109+ 83 3 — <4gdmp E>¥Fr 4 (109, 09. 015K T35)

N pE/a=x 101 102 103 104 105 106 107 108
I [9/1(= )8, T& wit oy sle bR E | ey | pal|Rs e mAn|B2e
2 19/8(= )6, 7& B | Flr | BmRE|RET(H5E | RFGE | MAR|FIE
3 19/15(= )6, 7% EE R | Flr |k E | R |l | REL ([ MAR(FIE
419/22(206, 78 | #E 5 [fle |k Eay| sl |EE L |MAR|F2E
5 19/29(~ )6 & oy gl br |k Ey wa |Egit  man|Fas
5 19/29(=)7& sERey| Z5 |Flewr | mkE|FEZE | XL 5 |kEL | mAD
6 [10/6(= )6, 74 RReX| 3% (FIE|RRE|FIE|(FLF(RFGE | MmAR
7 |10/13(= )6, 74 B4 LA s
8 [10/20(= )6, T& |%Adr| %% |flew|HkE|F2E | L5 |®EE|(MAD
9 [10/27(= )6, 78 |%EpeX| 2% |Fledr|mkE|FE28 |53 (R0 | man
10 |11/3(= )6, 74 Epey| 2 [Plew|mRE| B2 |Re0 | mAan
11 {11/10C= )6, 74 |pkE | kped |52 7 |Fla [ MARD | F28 | Fal |k 1L
12 [11/17C= )6, 78 |BmEaE Ry | E2 7 |FleFr| | mAS|F 28 | HaL[kE 4
13 [11/24(= )6, T4 |BERE | R | L 7 (FloF| | MAR | F2E |55 |%kE1
14 12/1(= )6, T& B Ry |22 3 | SleF | MAR | B28 |5l |Eg 0
15 [12/8(= )6, 74 B E | Ry |22 5 | Flewr|mAR | B2 |yas|%Es 0
16 |12/15(= )6, T& Fledr|mE |k s i FRFEE|MAR|F28 | T 7
17 {12/22(= )6, 78 | ¥z #F |k E|Re |5 & F|RGE | MALF2E | 5F 7
18 [12/29(= )6, T4 | #lw [ peik B[R | 4 & ¥ |RAL |RAR|B2E |52 7
19 |110/1/5(= )6, T4 | 515 47 | ik £ | e | 4 & F |G 4 |MAR B 28| 52 3
20 [110/1/12(= )6, T&| 512 #F | Bk B | 5B | 5 & F |R G4 |[MAR(F 28| EE %

R
101-108 109-115
109+ & 3 CAgAm b EDRFT|H = hEOEA T

109 £ 3

<32 hE>ERTL

A 4w Ho) RRTT




